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1. SR11000/J2 a7 40K (AIX 5L)
AR5 /batch SEE L] Fig/-4 -
%A ZREY | =ZRAELK HMERh] [ D7 1)L | sr11000-s NQS s BEH B
X sr11000-s| NQS i o - a5t 7
GE) £(MB) (ECPU) (#Z:BEERE) (32CPU) /—F) (%)
20084E4 5 624 276 6,033 5,602 765378 | 16,431,305 14353 896,239.17 | 827,608.17 896,382.70 95.8 74.8
58 715 316 9,094 8635 | 1077456 | 18013022 31857 | 123931951 | 1,163254.01 [ 1,239,638.08 106.1 82.9
2007458 632 274 6915 10,134 6,960.01 7,476,493 165.57 832,784.59 | 814,087.27 832,950.16 88.6 69.2
68 651 281 9,214 11,245 | 1143371 6,653,725 195.63 | 1,161,610.82 | 1,126.228.71 | 1,161,806.45 101.4 79.2
78 657 276 8,887 10122 | 11,32012 | 7,074,926 17267 | 1,134,08256 | 1,087,884.20 | 1,134,255.23 96.4 75.3
) 633 250 5,991 8,997 832828 | 7490724 157.71 82711401 |  791,696.08 827,271.72 1012 79.0
98 691 232 7,841 7,295 9,704.18 | 9,382,304 163.23 | 1,142,677.30 | 103097549 | 1,142,840.53 103.0 80.4
108 755 307 8917 8990 | 1018465 | 11,474,240 177.83 | 110514263 | 990,756.08 | 1,105,320.46 102.8 80.3
1A 774 300 10,832 9776 | 1114178 | 9,262,011 27429 | 124278878 | 1,122,100.69 | 1,243063.07 108.4 84.7
128 791 299 10,401 8926 | 1113762 | 9662213 23398 | 1,246,90153 | 1,105665.86 | 1,247,135.51 105.0 82.1
20084E1 H 796 314 12,105 10450 | 12,78845 | 11,364,957 23917 | 1.286,356.01 | 1,136,868.03 | 1,286595.18 109.1 852
28 812 293 10,332 10,687 | 12,60305 | 11,917,289 271.91 | 1,.221,352.71 | 1,109,448.96 | 122162462 110.9 86.6
38 813 277 7,748 9,075 9,658.02 | 12,158,862 230.52 | 1.254.225.49 | 1,186,970.61 | 1,254,456.01 106.6 83.3
&5t 107,395 109,800 | 126,728.20 2579.04 | 13,757,810.52 |12,679.456.89 | 13,760,389.56
- BERMBOEE: sr11000-s(ECPU) + NQS (128 M) &9 %, J—RRREH: CEERBOAEET/—RCOM100%BIELIzERELIIHEDFER/—FE,
- BEHCIE. 20075 A REEFNTVER A, X16CPU 5, stERX = (17 ARERMEET) - (16 x 15 B DR BIEFRH)
GE) BREBFHIL. JIL—T1—ROBEERERIAEBTEFLV R, J—FBEE:. —ER/—FICHTIBELE, HERX=CV—FBBH) - (F—ER/—FH) x100
SR11000/J2 B B FI KR ) J—RRRBERV—FEEH/ Y —E X /—F % x 100)
SEPLE “ bt R (G 5)) RENE(%)
12,000 1,400,000 1000
1 1,300,000 90.0
10,000 y2 1 1,200,000 80.0 M
' 1 1,100,000 —
4 1,000,000 700 H [
8000 I 1 900,000 600 H |
1 800,000
6,000 | 1{ 700,000 500 M
1 600,000 400 |
| 1{ 500,000
4000 1 400,000 300
1 300,000 200 |
2,000 1 200,000 100 |
1 100,000 :
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